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R4.45| 1 |BEAERAE (R4.2.24~3.23) 25,086 25 6.271 0 0 0 0 0 6,21 0 ol
Re.4.8| 2 |AEBAH (R4.1.8~3.10) 16,912 25 4,228 0 0 0 0 0 4,228 0 ol
R4.4.15| 3 |MEEEEAKE (IF) 2,000 100 2, 090] 0 0 0 0 2,090 0 0 ol
R4.4.16] 4 |EEYr—FIHEY RL1~3A%) 8.400| 100 8. 400] 0 0 0 0 8,400 0 0 0
Re.4.211 5 |@FHEMESRYN GRS 4,565 100 4,565 0 0 0 0 4,565 o' 0 o]
R4.4.23) 6 |ERFEARRARNGEEH (4AH) 4,200 wol 4, 200] 0 0 0 0 4, 200 0 0 o
RLA2N T |RT—FT+HRAE (iPhoneld Pro) 99,999 5o| 49, 999' 0 0 0 0 0 o| 40,999 ol
R.4.27] 8 |Za—REwHR (4B 1,500 |oo| 1.5oo| 0 0 0 0 1,500 0 0 oI
R4.4.27) 9 |BEERHAEAKSE GAS) 5.900f 100 s 9oo| 0 0 0 0 5. 900 0 0 ol
Re.4.271 10 [EfEH (BEEEERY) 289 12,273] 50| B. weF 0 0 0 0 0 0 6,136 ol
R&.4.27| 11 |of &—xwv MERY CRD) 4,820  s0f 2.410 0 0 0 0 0 0 2.410 0
R4 4.27| 12 |AHHE 4AS) 80,000 50] 40,000 0 0 0 0 0 0 0 40, 000
R4.4.27] 13 |aF—HBY—ZH LB 9,720 25 2, 430] 0 0 0 0 0 0 2,430 0
RA.4.28] 14 (or—HSERE (A 5, 060 zsl 1,265 0 0 0 0 0 0 1,265 o]
Re.4.280 15 |EEH (BHRERY) 4850 som 2| i 434' 0 0 0 0 0 0 1.484 u}
R4.4.28] 16 LEIFH (BIAERH) 4ARQ 4,138 25 1, oa4| 0 0 0 0 0 0 1,034 ol
R4.4.28] 17 |Hv Y 4B 7,962 25 1.990| 1,990 0 0 0 0 0 0 ul
ol 0 0 0 0 0 0 0 —ol
aAH 298, 562 143, 902 1,990 0 0 0| 266550 10,400  ©64.758| 4o, ooo|
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RA.5.100 1 |REBBEERAT L SiRRAAR GEMS) s1.erz| 9] 31,553 0 31,553 0 0 0 0 ] oI
R&.5.11| 2 |EMEAR (R4.3.24~4.24) 19,702 25] 4,925 0 0 0 0 0 4,025 0 ul
R45.17| 3 |EEIMERIECEETER 30,760} 100 30, 760 0 0 30,760 0 0 0 0 OF
RES. 190 4 [EFo U AETRHEMAR 21,720 50 13. 860} 0 0 0 0 13, 860 0 0 0
Re.5.26] 5 |[MTBRENEEE (EEFEHBN) GAS) 42000 100] 4,200 0 0 0 0 4,200 0 0 0
R4.5.25| 6 |EARARREEE (RFEHM) GHM 4,565  100] 4, 565] 0 0 o 0 4,565 0 0 0
R4.5.21| 7 |aE—#U—A¥H GAL) 9,720 25 2, 430I ' 0 0 0 0 0 0 2,430 o]
RA.5.27] 8 j=—a-—-REwHA (5B 1.500 mol 1.sou| 0 0 0 0 1.500 ] 0 ur
R&.5.21] 8 [SFMIEERER (BEEHM) GAS) 5,900 mol 5, suul 0 ¢ 0 0 5, 900 0 0 o]
R4.5.271 10 JiIEMERIEHAHE GAM 9,094 50 4,547 0 0 0 0 0 0 4,547 0
Re.5.27) 11 |2 —2w LGRS 4,820 50 2,410 0 0 0 0 0 0 2,410 ol
RA.5.30| 12 |[Fmsis 48 (5EH) 2.585| 25 646] 0 0 0 0 0 0 646 —oI
RA.5.30] 13 |BIEBAHGAR 652 25 1,630 0 0 0 0 0 0 1,630 0
R4.5.30] 14 (MIEGERHGAD 4136 25 1,034 0 0 0 0 0 0 1.034 0
R4.5.30| 15 |aE—HEEHGAS) 17,568 25 4,392 ] 0 0 0 0 0 4,392 0
RA.5. 31 16 |EHERRRIMEA AR (6A ) 80, 000 sal 40, oool 0 0 0 0 0 0 0 40 ooo]

ol 0 0 ] 0 0 0 0 ol
SAH 260, 665 154, 352 0 31,553 30. 760 0 30,025 4,925 17,089 40, nool
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R4.6.7 t |EHFERL(EES) 16,593 25 4, 14a| 0 0 0 0 0 4,148 0 ol
R4.6.8] 2 [HFHWHLTKEHRGAD) 16,912| 25 4, 2za| 0 0 0 0 0 4,228 0 ol
RL.6.101 3 |HEHESEMERAY 4B 7,914 sol 3,957 0 0 0 0 0 0 3,957 ol
R.6.23] 4 |FEEETH (HEHE GAMN 4,565 wol 4, 565' 0 0 0 0 4,565 0 0 0
RA.6.25] 5 |EHRAMEEEM (BeFEHM) GRS 4,200 wol 4, 2oo| 0 0 0 0 4, 200 0 0 0
R4.6.27] 6 |Za—ZREwHR (BR) 1,500] 100 1,500 0 0 0 0 1,500 0 0 0
R4.6.27] 7 |HFAEEEEY (BEEEHM) GAM 5, 900 100' 5,900 0 0 0 0 5,500 0 0 of
R4.6.27| 8 | 24—Fw MERK WAL 4,821 sol 2, anol ) 0 0 0 0 0 2,410 of
R62Y 9 |ab—HU—KEAM 9,720 25| 2, 430] 0 0 0 0 0 0 2,430 ol
ra.6.28| 10 |oE—#ERYGAS) 5, 060 2s| 1,265 0 0 0 0 0 0 1,265 oI
R4.6.28| 11 |HW 4L GAS) 3, 469 zsl 867 867 0 0 0 0 0 0 ol
R4 6.28] 12 |EEEERMGAS) © 6.106] 25 1.526I 0 0 0 0 0 0 1,526 nl
R4.6.28) 13 |BESERHEAD) @ 4138 25 1, oaal 0 0 0 0 0 0 1,034 0
R4.6.30] 14 |PEEEEESH- ( 2022 4 ~ 2023, 3) 60110 1oo| so,nnl 0 0 0 0 50, 110 0 0 0
R4.6.30] 15 |EBFSERIEEIBEAGEEGASD 80, 000 50' 40, oool 0 0 0 0 0 0 ¢ 40, 000
ol 0 0 0 0 0 0 0 0
o’ 0 0 0 0 0 0 0 ] |
0 0 0 0 0 0 0 0 ol
GHR 231, 006 138, 140 867 0 0 0 76,275 8,376 12,622 40, ooo|
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RLT. 11l 1 | BEERMGES) 7.924] 50} 3,962 0 0 0 0 0 0 3,062 0
RAT 2 A8 —Fy FREES) 4.821] 50 2.410 0 0 0 0 0 0 2,410 0
RAZZE 3 |HRAMERN (BEHED TAH) 5,900] 100 5, 900 0 0 0 0 5, 900 0 0 oi
RET.5| 4 [EFEWBAMKTRES 2.530 100H 2,530 0 0 0 0 2,530 0 0 q
Re.7.5] 5 |EHFBKLGAD 13,189} 25 3,297 0 0 0 0 0 3,297 0 0
R4.7.23) 6 |WEARSERH (HEHMD (TAD 4,565 1oo| 4,565 0 0 0 0 4,565 0 0 0
Re.7.25| 7 |#FBABEEETH (EEED (1B 4,200 oo 4,200 0 0 0 0 4,200 0 0 ol
RAIZI B J2E—HU—ZHTAN 9.720, 25 2,430 0 0 0 0 0 0 2,430 ﬂ
Ri.7.28] 9 |aE—#ERAETAD 5080 25 1,265 0 0 0 0 0 0 1,265 oI
RA.7.28] 10 [HVUY (TR 3,504) 25 898 888 0 0 o 0 0 0 JI
Ra.7.28] 11 [ PeiliyEE 7R 2585 25 6a6) 0 0 0 0 0 0 646 —ol
R&.7.28| 12 |BEERH A @ 6,204 25 1,551 0 0 0 0 0 0 1,551 q
Re7.28 13 [BESEENOANS Q) 4,13 25 1,084 0 0 0 0 0 0 1,034 ;l
RAT.20] 14 |\RIHERHBREAGZ (TAS) 80,000 50] 40,000 0 0 0 0 0 0 0 40, oal
of 0 0 0 0 0 0 0 —ol
0 0 0 0 0 0 0 0 J
d 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 ui
1A% 164, 428 74. 638} 898 0 0 0| 17,195 32971 13208 40, oﬂ
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RL7.16] 1 [REED 4+ — B 8,400 100 8, 400] 0 0 0 0 &, 400 0 0 o]
R4.8.5] 2 |EHHAERMLTES) 20,204 25 5,051 0 0 0 ] 0 5, 061 0 of
R4.8.8] 3 |BIHHRLTKERTASD 15,774 25 3, 943| 0 0 0 0 0 3,943 0 oi
R4.B.10| 4 |EHEEERHTAS) 7.921 sol 3 esol 0 0 0 0 0 0 3.960 ol
R4.B.241 5 |WMAEELEH (WP EHED GRS 4,565 100 4, sssl 0 0 0 0 4,565 0 0 ol
R4.8.25] 6 |¥iEREEE¥E (GEFE¥E) BAM 4,200} 100 4, 200 0 0 ) 0 4, 200 0 0 ol
RA.8.29] 7 |BEFEEMEBBMD 6,603] 25 1 64BJ 0 0 0 0 0 0 1,648 o‘
Re.8.29] & |BEEBHEAH@ 413 25 1.034 0 0 0 0 0 0 1.034 of
R4.8.29] 8 (s uH—Fw REEAD) 4,821 sol 2,410 0 0 0 i} 0 ] 2,410 ol
R4.8.20( 10 |HTAREESEE (BEHED BAMS) 5,900 wol 5, guoi 0 0 0 0 5, 900 0 0 oI
RA.B.19F 11 AU (B £ (BAS) (BR19E) 4,476 50' 2, 2as| 2,238 0 0 0 0 0 0 ol
R4.8.29] 12 |aE—U—2ZHBAD) 97200 28] 2 430' 0 0 0 0 0 0 2,430 ul
R4.8.29] 13 o E—HERH BAS) 50600 25 1.265 ] 0 0 0 0 0 1,265 o|
R4.8.31| 14 |SEEEEEALL (BBR%) (BR298 - 8R30R) 10, 340 100I 16. 340] 0 0 0 ] 10, 340 0 0 o’
R4.8.31 15 |BFEEEWRREE AERK(BAD 80,000 . 50 40, 000 0 ] g ] o 0 0 40, 000
R4.8.28] 16 |HV UL (BA4) (BA29E) 3,187] 25 946 946 0 0 0 0 0 0 of
ol 0 0 0 0 0 0 0 uI
ol 0 0 0 0 0 0 0 q
3138 195, 897 93, 330] 3.184 0 0 0 33, 405 8,994 12,747 49, ouo|
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Re9.8l 1 |BRERBERAGAS) 19.551] 25 4,887 0 0 0 0 0 4,887 0 oI
Ra.g. 12| 2 HEBEIEMERE GHS) 7,911 50| 3,955 0 0 0 0 0 0 3.955 ol
Re.9.13| 3 R (9AD (9/13) 4, 458] sol 2,229] 2,229 0 0 0 0 0 0 ol
Ra.9.22) 4 [WiAEESCH (WEHMEM) A 4,565 1uo| 4,565 0 0 0 0 4,565 ] 0 ol
R4.9.25| 5 [FRAESEEN (GRREAN B4 4,200 mol 4, 200] 0 0 0 0 4,200 0 0 ol
R4.9.26] 6 (ABEY—IH (9B 103,714 sol 51,857] 51,857 0 0 0 0 0 0 ol
RE9.211 T | vi—3y ME(TAS) 4,821 sol 2. 41ol 0 0 0 0 0 0 2,410 0
R4.9.27] B |EEREEEE (BENE (A 5, 900 IOOl 5, gool 0 0 0 0 5, 300 0 0 0
Re.9.271 9 |aE—HU—RHOAS) 9,720 25| 2, 430| 0 0 0 0 0 0 2,430 b |
R4.9.27) 10 (ML (9RA) (9/2D) 3.747 50' 1, s7a| 1,873 0 0 0 0 0 0 ]|
R4.9.28 11 [aE—PERKOF) 5.060] 25 1, 265 0 0 0 0 0 0 1, 265 |
R4.9.20| 12 TR/ H¥ (9AS) 2,585 25 646 0 ] 0 ] 0 0 646 oJ
Ra.9.28| 13 |BEEAKOADD 6.217| 25 1,569 0 0 0 0 0 0 1,569 o}
R4.9.28| 4 |BEMEEAMORAMO 4,136 25 1,024 0 0 0 0 0 o 1.034 nI
R4.9.28| 15 |RIBSEBMHEMBBAGLE GRS 80,000 50l  40.000) 0 0 0 0 o 0 0 40.000'
oI ] 0 0 0 0 0 0 ol
oI 0 0 0 0 0 0 0 —ol
oI 0 0 0 0 0 0 0 uI
SHM 266, 645 128, azo| 55,959 0 0 0] 14,665 4,887 13.309] 4o, oﬂ
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R&10.7] 1 |BEHFERKOAS) 18, 485 zsl 4,621 0 0 0 0 0 4,621 0 o]
RA10.11| 2 |HFHRETKHEKR (OB 12,012 25| 3.003] 0 0 0 0 0 3.003 0 )|
RA.10.11| 3 |MTFEFHEAMOGRS) 7.924 sol 3,962 0 0 0 0 0 0 3,962 )|
RA.10.12 4 Bt (10A4) (0/12) 3. 861 5o| 1.930| 1,930 0 0 0 0 0 0 )|
R&10.14 5 |BNIAEK (9AH) 7.078| too 1 oval 7,078 0 0 0 0 0 0 y |
R4.10.14| 6 |mHES v —+ILEESER 8,400 100 8, 4oo| 0 0 0 0 8,400 0 0 ol
RA.10.24] 7 [mPAREEEE (WEEHED (1085 4,565) 100 4,565 0 0 0 0 4,565 0 0 0|
R4.10.25| B |HEEEEREE (REHMD (10A4) 4,200] 100 8, 200| 0 0 0 0 4,200 0 0 —Ul
R4.10.22| 9 |RAEIZEHE (10AH) 29,460F 100] 29, 4sol 29, 460 0 0 0 0 0 0 0
RA.10.26( 10 |EAABIYEU—H(10H%5) 51,867| 50| 25.933] 25,033 0 0 0 0 0 0 ol
RLI0.2T[ 11 | B —Fw FE(BBS) a8211  sof 2410 0 0 0 0 0 0 2,410 jo
R4.10.27| 12 |WERAEEERM (BEFE) (10A4) 5.900] 100} 5. 900] 0 0 0 0 5,900 0 0 0
R4.10.27) 13 |aE—#)—2E(108%5) 97200 25 2, 430) 0 0 0 0 0 0 2,430 0
R4.10.28) 14 [EEa{E (10HG) (10/28) 3,148 soi 1,574 1,574 ] 0 0 0 (1 0 o]
R4.10.28( 15 |3 E—iEEAH (1055 ~_b.060| 2_§| 1,265 of 0 0 0 0 of 1,265 b |
R4.10.28] 16 |EEESEAIN (10RO 5872 2 1, 463' 0 0 0 0 0 0 1. 468| o]
R4.10. sz 17 |EEEAMAASO 4.13) 25 I 034I o 0 0 0 0 0 1,034 oi
RA.10.31| 18 |BEEWBIBA AR (10A5) so,000] s0of 40, oooI 0 0 0 0 0 0 0 40, oool
10R 8t 266, 509 149,233] 65,975 0 0 of 2s08] .62 12.56] 40,000
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R&.11.8] 1 |HRIEFMBERML A0S 13,395] 25 3, 348] 0 0 0 0 0 0 3,348 0 o
Re.s0.10] 2 EREEERY 10A5) 1,957 50]  3.978] 0 0 0 0 0 0 0 3.978 ol
RENIIT| 3 |SEBHEHERER (11HS) 1,004,577 gsl 984, 531 of 0f 984,531 0 0 0 0 0 —OI
R&1112] 4 |EEMRE (MAH) 11412 4,105 5o| 2,052 2,052 0 0 0 0 0 0 0 —OI
Re.11.22] & |SHRABESEE (BEHMD) (11HS) 4,585 wul 4,565 0 0 0 0 0 4,565 0 0 oI
RA11.25| & |WEAREERM (GRSEERED (1A 4,200 moI 4, 2ool 0 0 0 0 0 4,200 0 0 q
RENL28| T {2 E—F v b (A 4.821‘ sol z.41o| 0 0 0 0 0 0 0 2. 410 oI
R4.11,28] & IWAAEEEEM (11A%H) 5.900f 100 5, sool 0 0 0 0 0 5,900 0 0 o]
RAILZE| 9 [OE—MWU—RBOIAS 9,720 25 2,430 0 of 0 0 0 0 0 2,430 ;l
RA.1.28] 10 |BBHEY—RH (1AM 51,867 50| 25,933 25,933 0 0 0 0 0 0 0 uI
RAILIO| 11 |TRACHH (1AM 2,585 25 646 0 0 0 o 0 0 0 646 oI
R4 11.30] 12 |BEHEBMIAZID 6.433) 25 1, 608] 0 0 0 0 0 0 0 1.608 oI
R4.11.30] 13 |BEEEAM (AN 4136 28] 1,034 0 0 ] 0 o 0 0 1.034 0
R4.11.30] 14 |opP—ERH (1A 5080 25 . 255| 0 0 0 0 0 of 0 1,265 0
RA11.30] 15 IERESEBHHBIRA AR (MAS) 80.000] 50 4o oool 0 0 0 0 0 0 0 0 40, 000
ol 0 0 0 0 0 0 0 o of
oI 0 0 0| 0 0 0 0 0 ol
OI 4] OI 0 1] 0 0 0 0 UI
1Ak 1,209, 321 1,003, sool 27,985 o| 994, 531 0 0f 14,665 3.3 13.9M 40.@]
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R4.12.3| 2 I¥EdR{E (1284) 12/3 4.491] 50 2. 245] 2, 245 0 0 0 0 0 0 ol
R4.12.7] 3 [EERRESLUTAS) 16,524 25 4131 0 0 0 0 0 4,131 0 oI
Ra.12.8] 4 |EBERLTFAKEALNBSS 13.975| 25 3, 493I 0 0 0 0 0 3,493 0 ol
Re12.12 5 |HESBEBEAMNAS) 7,833 50 3, ssel 0 0 0 0 0 0 3,966 0|
R4 12.20] 6 |FEIRESEE (REHRD (12A%) 4,200 100 4.200' 0 0 0 0 4,200 0 0 ol
R4.12.20] 7 |REEREMEDRIE (12A4) 822,470 o8] 814,245 0 814, 245 o 0 0 ] 0 oI
Re.12.20] 8 |EHMBELTGRFYAAKROI289) 230, 110]  99] 227,808} 0 227, 808 0 0 0 ) 0 —0|
R4.12.20] 91 |RBBEREE (F11E)+RAFEH 66,110] 99 65, 448 0 65, 448 0 0 0 0 0 ol
R4.12.20] 9-2 |SEEERE (F128) 66,000] 99 65, 3404 0 65. 340 0 0 0 (] 0 oI
Ré12.23 10 |HERMARESRHM (WMEGHM) (1284 4,565 100] 4.555l 0 0 0 0 4, 565 0 0 ;I
R4.12.26] 11 |EEEIL (1284 12/26 3,995] 50 1.997 1,997 0 0 0 0 0 0 q
Re.12.26] 12 |ESEFHEAM (1253 @ 6.512] 25 1,628 0 0 0 0 0 0 1,628 ol
R4.12.26] 13 |EHEFMAH (1299 @ 4,136] 26 1,034 0 0 0 0 0 0 1,034 o’
Re.12.26] 14 |BEE Y —Z ¥ (1284 51,867 50| 25,033 25,933 0 0 0 0 0 0 0
R4.12.27] 15 |4 o8 —ZFw kit (10A4) 4,820 s0] 2,410 0 0 0 0 0 0 2, 410 o]
Re.12.27] 16 |$rRAVEEEE (B (12A4) 5.900) 100 &sooi ol. 0 0 0 5,900 o ] 0
R4.12.27] 17 |aP—#U—RH 1284 9,720) 25 2, 430' 0 0 0 0 0 0 2,430 o]
R&.12.28F 18 |oP—itERAME (1284 5060] 25 1,265 0 0 0 0 0 0 1,265 0
R4.12.20] 10 |HIFZTHHMRE AR 285 80,0001 50§ 40,000 0 0 0 ) ] 0 0 40, 000
1284 1,408, 388 1,278,038 30,175 1,172 841 0 0 14, 665 1,624 12,733 40, 000
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RS.1.5] 1 |&Edift (154 1/5 3,411 50 1.7us| 1,708 0 0 0 0 0 0 0 ol
R.1.6] 2 |HRHEMERKQZAD 20,067 25 5, msl 0 0 0 0 0 0 5,016 0 ol
RE.1L10] 3 YRERAEEERNM (2R 7,928 504 3 954' 0 0 0 0 0 0 0 3,964 ol
RG.1.18| 4 (#Emtt (154 1/18 4,739 5or 2,360 2,360 0 0 0 0 0 0 0 0
Re.1.23| 5 |HRAEEERH (WFHED (BH) 4,565 100 4,565 0 0 0 0 0 4,565 0 0 0
R.1.26| 6 [EBFEU—RHIAD 51, 867 50' 25,933}  25.993 0 0 0 0 0 0 0 ol
RE.1.26| 7 [EEEABIE (1A4) KEBE/ARLOMER 100, 000 1ou| 100, oool ol 100,000 0 0 0 0 0 ] uI
RS.1.271 8 |HRARAEEM (REEHE) (BR) 5, 900 wol 5, 9oo| 0 0 0 0 0 5.900 0 0 ol
R5.1.27} 8 |4 2&—Fwv E(1TAS) 4,820 50’ 2, 410' 0 0 o 0 0 0 0 2,410 nl
RE.1.27( 10 |oE—#U—2H IR 9,720 25 2,430 0 0 0 o 0 0 0 2,430 ol
Ro.i.20| 1 [&EMfL (1A% 1/29 4,426] 50 2,219 2,213 0 0 0 0 0 0 o ol
RS.1.31| 12 |af—iBERM AN 5.060] 25 1,265 0 ¢ 0 0 0 0 0 1,265 0
R5.1.81| 13 |EEGANO (18%) 6,411 25 1,602 0 0 0 0 0 0 0 1,602 0
RS.1.31) 14 |BEEABO ({H7) 4,136] 28] 1,034 0 0 0 0 0 0 o] 1034 q
R5.1.31] 15 |Fosi44¥ (1A 2,585 25 s4s| 0 0 ] 0 0 ] 0 646 o]
RE.1.31| 16 [SFRARRERSE (HFEHRD (A 4,200 mul 8, 2uu| 0 0 0 0 0 4,200 0 0 ol_
R5.1.31| 17 (R FEHBRAAGROAD 80, 000 5o| 40, onol 0 0 0 0 0 0 0 0 40, oool
oF 0 0 ] 0 0 0 0 0 ol
1R 219, 842 205,265 32.223] 100,000 0 0 of 14,665 5,016 13, 351 40, ooo|
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RE.29| 1 |[REBBEHERT - RAF VTR ( Z}z%) 240,600 99| 238273 0 238, 273} 0 0 0 0 0 0
RE.2.7| 2 [EBHEFESKLOAS 35.645) 28 8911 0 0 0 0 0 8.911 0 0
R5.2.10] 3 |HEHBEERHOAS) 7,929 5o| 3,964 0 0 0 0 0 0 3.964 ol
RE.2.11] 4 [&EME (28B4 @10 4,004 5o| 2,002 2,002 0 0 0 0 0 0 ol
R5.2.21 § |[AF—#y—IM @AM 8,720 zsl 2, 430| 0 0 0 0 0 0 2,430 ol
Re.2.27 6 |HHBEHH (B8FE) 2R 5,900 100| 5, gnol 0 0 0 0 5,900 0 0 ol
RE.2.27 7 | ud—Fw FRU2BS) 4,820 50, 2,410 0 0 0 0 0 0 2,410 oI
R.2.27| 8 |EBESAM QA @ b.750] 25 1,437 0 0 0 0 0 0 1,437 ol
RS.2.27| ¢ |BESRAN A @ 4,136] 25 1, oad 0 0 0 ] 0 0 1,034 —ol
R5.2.27] 10 |aP—HERANCES) 5,060 25 1,265 0 0 0 0 0 0 1,265 ol
RS.2.27) 11 |8t 2BH) (2/27) 4,117 50 2, osal 2,058 0 0 0 0 0 0 El
RS.2.27| 12 |[HBIREECH (ER%kEHM) (2A4) 4,200 100 4, zool 0 0 0 0 4,200 0 0 ol
RS.2.27] 13 IB®E Y- (2BH) 51, 867 50I 25, 933' 25,933 0 0 0 0 0 0 ol
RG.2.28| 14 |#EEEEM (WFHE) QRS 4,565 1oo| 4,565 0 0 0 0 4, 665 0 0 ol
RE.2.28) 15 |BFETEEIERRNERE AN QA4S 80,000 50| 40, oool ] 0 0 0 0 0 0 40 uool
ol 0 0 0 0 0 0 o ol
ul 0 0 0 0 0 0 0 —ul
ol 0 0 0 0 0 0 0 ol
1A% 468, 303 3443820 20,003 238, 273 0 of 14,665 8,911 12,540 4o, ooEl
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R.2.8] 1 |EHHRLTAKEXROAS 17,202 25 4, 323] 0 0 0 0 0 4,323 0 o]
RE.3.4| 2 |EBREARGAD 1.012] 100 1.012 0 0 0 0 1,012 0 0 of
B3 3 |REBEERRT O RGEI28) @B 143,110 @9 141.s7a| 0 141,678 0 0 0 0 0 or
B5.3.71 4 |REMEMTFIR(EI138)CEAM 55.660| 99| 5. mal 0 55. 103] 0 0 0 0 0 0
R5.3.8] 5 |BHEARESLCAD) 24.7571] 25 5. isgl 0 0 0 0 0 6,189 0 oI
R5.3.8] & |&M GRS D G/9 4,231 50 2,115 2.115 0 0 0 0 0 0 ol
Re.3.10] 7 |IEHERSEEAE(2HS) 7.948] 50 3,974 0 0 0 0 0 0 3.974 0
Ro.3.18| 8 |REMEMEMREEE 135 AN 3i.970f 99|  31.650 0 31. 650 0 0 0 0 0 0
R5.3.22| ¢ |HBIWGEH (WPHE) GBAM 4,565 1oor 4,565 0 0 0 0 4,585 0 0 0
R6.3.25] 10 |#BAREERH (G GAS) 4,200 1ooJ 4, 200] 0 0 0 0 4.200 0 0 0
RS.3.27) 11 |BEIEN—ZHBA 51, 867 5oJ 25, 933 25,933 0 0 0 0 0 0 0
R5.3.27 12 {FO/sr 48 3BS) 2.585| 25 s4al 0 0 0 0 0 0 646 |
RE.3.27[ 13 |EHEERH GAmM @ 5.744] 25 1.43&| 0 0 0 0 0 0 1,436 of
R5.3.27| 14 |EREERH BAm) @ 4.136] 25 t.o:-ml 0 0 0 0 0 0 1,034 0
RS.3.27 15 |WRIEREEH (BEEE) GAS) 5.%00] 160 5 900| 0 0 0 0 5, 900 0 0 of
RE.3.27| 16 | 2 &—Fw LA 48200 50 2, 41o| 0 0 0 0 0 0 2. 410 ul
RG.3.30 V7 (3 —#ERM BAM 5,060 25 1,265 0 0 0 0 0 0 1,265 oq
RE.3.27| 18 [aE—#wU—=2¥ CBAHM) 9,720| 25 2, 430I 0 0 0 0 0 ] 2,430 oI
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RS.3.30| 19 |RBUREHIFIMITYAAK(E13S) AN 320.128] 99| 316.926 0 0 o| 316.926 0 0 0 0 0 0
RS.3.30| 20 |[MHEEBDHBMMBAAGECAS) 80.000] 50§  40.000] ] 0 0 0 0 ¢ 0 0 0 4o.ouol
A 784, 706 652,789 28,048 0 o| 545357 0 0 15,677 10.512 13.195 40.ooo|
-3 5, 864. 362 4.461.820)  277.207) 100,000 0| 2.982 555 30, 760 o| 295522 84,013| 211,582 430.000'




